
 

 Name: SOLUTIONS        Date:              Period: 

    

Problems from: Precalculus: An Investigation of Functions; Lippman & Rasmussen. 2014. 

Assignment 7B: Angles and Arcs 

Answer the following problems with as much detail, explanation, and work that is appropriate.  
 

1. If  
1

cos
5

  , and   is in quadrant I, find          sin , sec ,csc , tan , cot      

𝒂𝒅𝒋 = 𝟏, 𝒉𝒚𝒑 = 𝟓, 𝒐𝒑𝒑 = 𝟐√𝟔 

𝐬𝐢𝐧(𝜽) =
𝟐√𝟔

𝟓
, 𝐜𝐨𝐬(𝜽) =

𝟏

𝟓
, 𝐭𝐚𝐧(𝜽) = 𝟐√𝟔, 𝐬𝐞𝐜(𝜽) = 𝟓, 𝐜𝐬𝐜(𝜽) =

𝟓

𝟐√𝟔
, 𝐜𝐨𝐭(𝜽) =

𝟏

𝟐√𝟔
 

 

2. If  tan 4  , and 0
2


  , find          sin , cos ,sec , csc , cot      

𝒐𝒑𝒑 = 𝟒, 𝒂𝒅𝒋 = 𝟏, 𝒉𝒚𝒑 = √𝟏𝟕 

𝒔𝒊𝒏(𝜽) =
𝟒

√𝟏𝟕
, 𝒄𝒐𝒔(𝜽) =

𝟏

√𝟏𝟕
, 𝒕𝒂𝒏(𝜽) = 𝟒, 𝒔𝒆𝒄(𝜽) = √𝟏𝟕, 𝒄𝒔𝒄(𝜽) =

√𝟏𝟕

𝟒
, 𝒄𝒐𝒕(𝜽) =

𝟏

𝟒
 

 
 
Simplify each of the following to an expression involving a single trig function with no fractions. 
To do this, it may help to rewrite each trig. function in terms of opposite, adjacent, and hypotenuse. 

 

1.  csc(𝑡) tan⁡(𝑡) 

𝒉𝒚𝒑

𝒐𝒑𝒑
⋅
𝒐𝒑𝒑

𝒂𝒅𝒋
=
𝒉𝒚𝒑

𝒂𝒅𝒋
= 𝒔𝒆𝒄(𝒕) 

2. cos(𝑡) csc(𝑡) 
𝒂𝒅𝒋

𝒉𝒚𝒑
⋅
𝒉𝒚𝒑

𝒐𝒑𝒑
=

𝒂𝒅𝒋

𝒐𝒑𝒑
= 𝒄𝒐𝒕(𝒕) 

 

3.   
sec(𝑡)

csc(𝑡)
 

𝒉𝒚𝒑
𝒂𝒅𝒋
𝒉𝒚𝒑
𝒐𝒑𝒑

⋅

𝒐𝒑𝒑
𝒉𝒚𝒑
𝒐𝒑𝒑
𝒉𝒚𝒑

=

𝒐𝒑𝒑
𝒂𝒅𝒋

𝟏
= 𝒕𝒂𝒏(𝒕) 

 

4.   
cot(𝑡)

csc(𝑡)
 

𝒂𝒅𝒋
𝒐𝒑𝒑
𝒉𝒚𝒑
𝒐𝒑𝒑

⋅

𝒐𝒑𝒑
𝒉𝒚𝒑
𝒐𝒑𝒑
𝒉𝒚𝒑

=

𝒂𝒅𝒋
𝒉𝒚𝒑

𝟏
= 𝐜𝐨𝐬⁡(𝒕) 

 
Go Beyond: 

 


